# Revisit nonlinear differential equations associated with Bernoulli numbers of the second kind 

Taekyun Kim<br>Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea.<br>E-mail: tkkim@kw.ac.kr<br>Dae San Kim<br>Department of Mathematics, Sogang University, Seoul 121-742,<br>Republic of Korea.<br>E-mail:dskim@sogang.ac.kr<br>Hyuck In Kwon<br>Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea.<br>E-mail: sura@kw.ac.kr<br>Jong Jin Seo ${ }^{1}$<br>Department of Applied Mathematics,<br>Pukyong National University,<br>Busan, Republic of Korea.<br>E-mail: seo2011@pknu.ac.kr


#### Abstract

In this paper, we revisit nonlinear differential equations which are derived from the generating function of the Bernoulli numbers of the second kind. In addition, we give explicit and new identities for the Bernoulli numbers and higher-order Bernoulli numbers of the second kind.


AMS subject classification: 05A19, 11B83, 34A34.
Keywords: Bernoulli numbers of the second, nonlinear differential equation.

[^0]
## 1. Introduction

For $r \in \mathbb{N}$, it is well known that the higher order Bernoulli numbers of the second kind are defined by the generating function

$$
\begin{equation*}
\left(\frac{t}{\log (1+t)}\right)^{r}=\sum_{n=0}^{\infty} b_{n}^{(r)} \frac{t^{n}}{n!}, \quad(\operatorname{see}[1,6,11]) \tag{1}
\end{equation*}
$$

From (1), we note that

$$
b_{n}^{(r)}=B_{n}^{(n-r+1)}(1), \quad(n \geq 0)
$$

where $B_{n}^{(r)}(x)$ are Bernoulli polynomials of order $r$ which are given by the generating function

$$
\left(\frac{t}{e^{t}-1}\right)^{r} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{(r)}(x) \frac{t^{n}}{n!}, \quad(\text { see }[2,4,7])
$$

In particular, for $r=1, b_{n}=b_{n}^{(1)}$ are called the Bernoulli numbers of the second kind.
In [2], Bayad and Kim studied the following nonlinear differential equations

$$
\begin{equation*}
y^{N}=\frac{1}{(N-1)!} \sum_{k=1}^{N} a_{k}(N) y^{k-1}, \quad(k \in \mathbb{N}), \tag{2}
\end{equation*}
$$

where $y^{(k)}=\left(\frac{d}{d t}\right)^{k} y(t)$.
For $y=y(t)=\frac{1}{q e^{t} \pm 1}$, Bayad-Kim gave explicit formula for Apostol-Bernoulli and Apostol-Euler numbers and polynomials arising from (2).

Recently, Kim and Kim introduced the following nonlinear differential equations arising from the generating function of Bernoulli numbers of the second in order to obtain explicit identities and formulas of the Bernoulli numbers of the second kind as follows:

$$
\begin{equation*}
F^{(N)}(t)=\frac{(-1)^{N}}{(1+t)^{N}} \sum_{j=2}^{N+1}(j-1)!(N-1)!H_{N-1, j-2} F^{j}, \quad(\text { see [6]) } \tag{3}
\end{equation*}
$$

where

$$
\begin{aligned}
& H_{N, 0}=1 \quad \text { for all } N \\
& H_{N, 1}=H_{N}=1+\frac{1}{2}+\cdots+\frac{1}{N} \\
& H_{N, j}=\frac{H_{N-1, j-1}}{N}+\frac{H_{N-2, j-2}}{N-1}+\cdots+\frac{H_{0, j-1}}{1}, \quad H_{0, j-1}=0 \quad(2 \leq j \leq N)
\end{aligned}
$$

Several authors have studied nonlinear differential equations arising from the generating functions of special numbers and polynomials (see $[1,2,3,4,5,8,6,7,11,9,10$, $12,13,14]$ ).

In this paper, we revisit nonlinear differential equations which are derived from the generating functions of the Bernoulli numbers of the second kind. In addition, we give explicit and new identities for the Bernoulli numbers of the second kind and higher-order Bernoulli numbers of the second kind.

## 2. Revisit nonlinear differential equations associated with Bernoulli numbers of the second kind

Let

$$
\begin{equation*}
F=F(t)=\frac{1}{\log (1+t)} \tag{4}
\end{equation*}
$$

Then, by (1), we get

$$
\begin{equation*}
F^{(1)}=\frac{d F(t)}{d t}=-\frac{1}{\log (1+t)^{2}} \frac{1}{1+t}=-\frac{1}{1+t} F^{2} \tag{5}
\end{equation*}
$$

From (5), we can derive the following equations:

$$
\begin{align*}
F^{2} & =-(1+t) F^{(1)}  \tag{6}\\
2!F^{3} & =(-1)^{2}\left\{(1+t) F^{(1)}+(1+t)^{2} F^{(2)}\right\} \tag{7}
\end{align*}
$$

and

$$
\begin{equation*}
3!F^{4}=(-1)^{3}\left\{(1+t) F^{(1)}+3(1+t)^{2} F^{(2)}+(1+t)^{3} F^{(3)}\right\} . \tag{8}
\end{equation*}
$$

Thus, we are led to put

$$
\begin{equation*}
N!F^{N+1}=(-1)^{N} \sum_{i=1}^{N} a_{i}(N)(1+t)^{i} F^{(i)}, \quad(N=0,1,2, \ldots), \tag{9}
\end{equation*}
$$

where $F^{(i)}=\left(\frac{d}{d t}\right)^{i} F(t)$.
Taking derivatives on both sides of (9), we have
$(N+1)!F^{N} F^{(1)}=(-1)^{N}\left\{\sum_{i=1}^{N} a_{i}(N) i(1+t)^{i-1} F^{(i)}+\sum_{i=1}^{N} a_{i}(N)(1+t)^{i} F^{(i+1)}\right\}$.

Thus, by (5) and (10), we get

$$
\begin{align*}
(N+1)!F^{N+2} & =(-1)^{N+1}\left\{\sum_{i=1}^{N} i a_{i}(N)(1+t)^{i} F^{(i)}+\sum_{i=1}^{N} a_{i}(N)(1+t)^{i+1} F^{(i+1)}\right\} \\
& =(-1)^{N+1}\left\{\sum_{i=1}^{N} i a_{i}(N)(1+t)^{i} F^{(i)}+\sum_{i=2}^{N+1} a_{i-1}(N)(1+t)^{i} F^{(i)}\right\} . \tag{11}
\end{align*}
$$

On the other hand, by replacing $N$ by $N+1$ in (9), we get

$$
\begin{equation*}
(N+1)!F^{N+2}=(-1)^{N+1} \sum_{i=1}^{N+1} a_{i}(N+1)(1+t)^{i} F^{(i)} . \tag{12}
\end{equation*}
$$

Comparing the coefficients on both sides of (11) and (12), we have

$$
\begin{equation*}
a_{1}(N+1)=a_{1}(N), \quad a_{N+1}(N+1)=a_{N}(N), \tag{13}
\end{equation*}
$$

and

$$
\begin{equation*}
a_{i}(N+1)=i a_{i}(N)+a_{i-1}(N), \quad(2 \leq i \leq N) . \tag{14}
\end{equation*}
$$

In addition, by (6) and (9), we get

$$
\begin{equation*}
-(1+t) F^{(1)}=F^{2}=-a_{1}(1)(1+t) F^{(1)} . \tag{15}
\end{equation*}
$$

Thus, by (15), we see

$$
\begin{equation*}
a_{1}(1)=1 . \tag{16}
\end{equation*}
$$

From (7) and (9), we can derive the following equation:

$$
\begin{align*}
& (-1)^{2}\left\{(1+t) F^{(1)}+(1+t)^{2} F^{(2)}\right\}=2!F^{3}  \tag{17}\\
& \quad=(-1)^{2}\left\{a_{1}(2)(1+t) F^{(1)}+a_{2}(2)(1+t)^{2} F^{(2)}\right\} .
\end{align*}
$$

By comparing the coefficients on the both sides of (17), we get

$$
\begin{equation*}
a_{1}(2)=1, \quad a_{2}(2)=1 . \tag{18}
\end{equation*}
$$

From (13), we note that

$$
\begin{equation*}
a_{1}(N+1)=a_{1}(N)=a_{1}(N-1)=\cdots=a_{1}(1)=1, \tag{19}
\end{equation*}
$$

and

$$
\begin{equation*}
a_{N+1}(N+1)=a_{N}(N)=a_{N-1}(N-1)=\cdots=a_{1}(1)=1 . \tag{20}
\end{equation*}
$$

For $i=2,3,4$ in (14), we have

$$
\begin{align*}
& a_{2}(N+1)=\sum_{k=0}^{N-1} 2^{k} a_{1}(N-k),  \tag{21}\\
& a_{3}(N+1)=\sum_{k=0}^{N-2} 3^{k} a_{2}(N-k), \tag{22}
\end{align*}
$$

and

$$
\begin{equation*}
a_{4}(N+1)=\sum_{k=0}^{N-3} 4^{k} a_{3}(N-k) . \tag{23}
\end{equation*}
$$

So, we can deduce that, for $2 \leq i \leq N$,

$$
\begin{equation*}
a_{i}(N+1)=\sum_{k=0}^{N-i+1} i^{k} a_{i-1}(N-k) . \tag{24}
\end{equation*}
$$

Now, we give explicit expressions for $a_{i}(N+1)$.
By (21), we get

$$
\begin{align*}
& a_{2}(N+1)=\sum_{k_{1}=0}^{N-1} 2^{k_{1}}=2^{N}-1,  \tag{25}\\
& a_{3}(N+1)=\sum_{k_{2}=0}^{N-2} 3^{k_{2}} a_{2}\left(N-k_{2}\right)=\sum_{k_{2}=0}^{N-2} \sum_{k_{1}=0}^{N-2-k_{2}} 3^{k_{2}} 2^{k_{1}}, \tag{26}
\end{align*}
$$

and

$$
\begin{align*}
a_{4}(N+1) & =\sum_{k_{3}=0}^{N-3} 4^{k_{3}} a_{3}\left(N-k_{3}\right)  \tag{27}\\
& =\sum_{k_{3}=0}^{N-3} \sum_{k_{2}=0}^{N-3-k_{3}} \sum_{k_{1}=0}^{N-3-k_{3}-k_{2}} 4^{k_{3}} 3^{k_{2}} 2^{k_{1}} .
\end{align*}
$$

So, we deduce that, for $2 \leq i \leq N$,

$$
\begin{equation*}
a_{i}(N+1)=\sum_{k_{i-1}=0}^{N-i+1} \sum_{k_{2}=0}^{N-i+1-k_{i-1}} \cdots \sum_{k_{1}=0}^{N-i+1-k_{i-1}-\cdots-k_{2}} i^{k_{i-1}}(i-1)^{k_{i}-2} \cdots 2^{k_{1}} . \tag{28}
\end{equation*}
$$

Therefore, we obtain the following theorem.

Theorem 2.1. For $N \in \mathbb{N}$, the nonlinear differential equations

$$
N!F^{N+1}=(-1)^{N} \sum_{i=1}^{N} a_{i}(N)(1+t)^{i} F^{(i)} \quad(N=1,2, \cdots)
$$

have a solution $F=F(t)=\frac{1}{\log (1+t)}$, where $a_{1}(N)=1$ and

$$
a_{i}(N)=\sum_{k_{i-1}=0}^{N-i} \sum_{k_{i-2}=0}^{N-i-k_{i-1}} \cdots \sum_{k_{1}=0}^{N-i-k_{i-1}-\cdots-k_{2}} i^{k_{i-1}}(i-1)^{k_{i-2}} \cdots 2^{k_{1}}, \quad(2 \leq i \leq N) .
$$

Now, we recall that the Bernoulli numbers of the second kind, $b_{k}(k \geq 0)$, are defined by the generating function

$$
\frac{t}{\log (1+t)}=\sum_{k=0}^{\infty} b_{k} \frac{t^{k}}{k!}
$$

Also, the Bernoulli numbers of the second kind of order $r, b_{k}^{(r)}(r \in \mathbb{N})$, are given by the generating function

$$
\left(\frac{t}{\log (1+t)}\right)^{r}=\sum_{k=0}^{\infty} b_{k}^{(r)} \frac{t^{k}}{k!}
$$

From (4), we note that

$$
\begin{align*}
F & =F(t)  \tag{29}\\
& =\frac{t}{\log (1+t)} \cdot \frac{1}{t} \\
& =\sum_{k=0}^{\infty} b_{k} \frac{t^{k-1}}{k!} \\
& =\sum_{k=1}^{\infty} b_{k} \frac{t^{k-1}}{k!}+\frac{1}{t} \\
& =\sum_{k=0}^{\infty} \frac{b_{k+1}}{k+1} \frac{t^{k}}{k!}+\frac{1}{t} .
\end{align*}
$$

For a positive integer $i$, we have

$$
\begin{align*}
F^{(i)} & =\left(\frac{d}{d t}\right)^{i}\left(\frac{1}{\log (1+t)}\right)  \tag{30}\\
& =\sum_{k=i}^{\infty} \frac{b_{k+1}}{k+1} \frac{t^{k-i}}{(k-i)!}+(-1)^{i} i!t^{-i-1} \\
& =\sum_{k=0}^{\infty} \frac{b_{k+i+1}}{k+i+1} \frac{t^{k}}{k!}+(-1)^{i} i!t^{-i-1} .
\end{align*}
$$

From Theorem 2.1, we note that

$$
\begin{align*}
N!t^{N+1} F^{N+1} & =N!\left(\frac{t}{\log (1+t)}\right)^{N+1}  \tag{31}\\
& =N!\sum_{n=0}^{\infty} b_{n}^{(N+1)} \frac{t^{n}}{n!}
\end{align*}
$$

From Theorem 2.1, we can derive the following equation:

$$
\begin{align*}
& (-1)^{N} t^{N+1} \sum_{i=1}^{N} a_{i}(N)(1+t)^{i} F^{(i)}  \tag{32}\\
& \quad=(-1)^{N} t^{N+1} \sum_{i=1}^{N} a_{i}(N) \sum_{l=0}^{\infty}(i)_{l} \frac{t^{l}}{l!}\left(\sum_{k=0}^{\infty} \frac{b_{k+i+1}}{k+i+1} \frac{t^{k}}{k!}+(-1)^{i} i!t^{-i-1}\right) .
\end{align*}
$$

Now, we observe that

$$
\begin{align*}
& (-1)^{N} t^{N+1} \sum_{i=1}^{N} a_{i}(N) \sum_{l=0}^{\infty}(i)_{l} \frac{t^{l}}{l!} \sum_{k=0}^{\infty} \frac{b_{k+i+1}}{k+i+1} \frac{t^{k}}{k!}  \tag{33}\\
& \quad=(-1)^{N} t^{N+1} \sum_{i=1}^{N} a_{i}(N) \sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k}(i)_{n-k} \frac{b_{k+i+1}}{k+i+1} \frac{t^{n}}{n!} \\
& \quad=\sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{i=1}^{N} a_{i}(N)(-1)^{N}\binom{n}{k}(i)_{n-k} \frac{b_{k+i+1}}{k+i+1} \frac{t^{n+N+1}}{n!} \\
& =\sum_{n=N+1}^{\infty} \sum_{k=0}^{n-N-1} \sum_{i=1}^{N} a_{i}(N)(-1)^{N}\binom{n-N-1}{k}(i)_{n-N-k-1} \frac{b_{k+i+1}}{k+i+1} \frac{t^{n}}{(n-N-1)!} \\
& \quad=\sum_{n=N+1}^{\infty} \sum_{k=0}^{n-N-1} \sum_{i=1}^{N}(-1)^{N}\binom{n-N-1}{k}(i)_{n-N-k-1}(n)_{N+1} a_{i}(N) \frac{b_{k+i+1}}{k+i+1} \frac{t^{n}}{n!},
\end{align*}
$$

and

$$
\begin{align*}
& (-1)^{N} t^{N+1} \sum_{i=1}^{N} a_{i}(N) \sum_{l=0}^{\infty}(i)_{l} \frac{t^{l}}{l!}(-1)^{i} i!t^{-i-1}  \tag{34}\\
& \quad=(-1)^{N} \sum_{i=1}^{N} a_{i}(N) \sum_{l=0}^{\infty}(i)_{l} \frac{1}{l!}(-1)^{i} i!t^{N-i+l} \\
& \quad=(-1)^{N} \sum_{i=0}^{N-1} a_{N-i}(N) \sum_{l=0}^{\infty}(N-i)_{l} \frac{1}{l!}(-1)^{N-i}(N-i)!t^{i+l} \\
& \quad=(-1)^{N} \sum_{n=0}^{\infty} \sum_{i=0}^{\min \{N-1, n\}} a_{N-i}(N)(N-i)_{n-i} \frac{1}{(n-i)!}(-1)^{N-i}(N-i)!t^{n} \\
& \quad=\sum_{n=0}^{\infty} \sum_{i=0}^{\min \{N-1, n\}}(-1)^{i}(N-i)_{n-i}(n)_{i}(N-i)!a_{N-i}(N) \frac{t^{n}}{n!} .
\end{align*}
$$

Therefore, by Theorem 2.1, (31), (32), (33) and (34), we obtain the following theorem.
Theorem 2.2. For $n \geq 0, N \geq 1$, we have

$$
b_{n}^{(N+1)}= \begin{cases}\sum_{i=0}^{\min \{N-1, n\}}(-1)^{i}(N-i)_{n-i}\binom{n}{i}\binom{N}{i}^{-1} a_{N-i}(N), & \text { if } 0 \leq n \leq N, \\ \sum_{i=0}^{N-1}(-1)^{i}(N-i)_{n-i}\binom{n}{i}\binom{N}{i}^{-1} a_{N-i}(N) & \\ +(-1)^{N}\binom{n}{N+1}(N+1) \\ \times \sum_{k=0}^{n-N-1} \sum_{i=1}^{N}\binom{n-N-1}{k}(i)_{n-N-k-1} a_{i}(N) \frac{b_{k+i+1}}{k+i+1} & \text { if } n \geq N+1 .\end{cases}
$$

## References

[1] T. Agoh and K. Dilcher, Recurrence relations for Nörlund numbers and Bernoulli numbers of the second kind, Fibonacci Quart. 48 (2010), no. 1, 4-12. 2663413
[2] A. Bayad and T. Kim, Higher recurrences for Apostol-Bernoulli-Euler numbers, Russ. J. Math. Phys. 19 (2012), no. 1, 1-10. 2892600
[3] E. Beggs, Differential and holomorphic differential operators on noncommutative algebras, Russ. J. Math. Phys. 22 (2015), no. 3, 279-300. 3392518
[4] L. Carlitz, Some remarks on the multiplication theorems for the Bernoulli and Euler polynomials, Glas. Mat. Ser. III 16(36) (1981), no. 1, 3-23. 634291
[5] D. Kang, J. Jeong, S.-J. Lee, and S.-H. Rim, A note on the Bernoulli polynomials arising from a non-linear differential equation, Proc. Jangjeon Math. Soc. 16 (2013), no. 1, 37-43. 3059283
[6] D. S. Kim and T. Kim, Some identities for Bernoulli numbers of the second kind arising from a non-linear differential equation, Bull. Korean Math. Soc. 52 (2015), no. 6, 2001-2010. 3432732
[7] D. S. Kim, T. Kim, Y. H. Kim, and S. H. Lee, Some arithmetic properties of Bernoulli and Euler numbers, Adv. Stud. Contemp. Math. (Kyungshang) 22 (2012), no. 4, 467-480. 3051453
[8] D. S. Kim, N. Lee, J. Na, and K. H. Park, Abundant symmetry for higher-order Bernoulli polynomials (I), Adv. Stud. Contemp. Math. (Kyungshang) 23 (2013), no. 3, 461-482. 3113161
[9] T. Kim and D. S. Kim, Identities involving degenerate Euler numbers and polynomials arising from non-linear differentiable equations, J. Nonlinear Sci. Appl. 9 (2016), 2086-2098.
[10] , A note on nonlinear Changhee differential equations, Russ. J. Math. Phys. 23 (2016), no. 1, 1-5.
[11] T. Kim, D. S. Kim, D. V. Dolgy, and J.-J. Seo, Bernoulli polynomials of the second kind and their identities arising from umbral calculus, J. Nonlinear Sci. Appl. 9 (2016), 860-869.
[12] T. Kim, T. Komatsu, S.-H. Lee, and J.-J. Seo, q-poly-Cauchy numbers associated with Jackson integral, J. Comput. Anal. Appl. 18 (2015), no. 4, 685-698. 3308491
[13] J.-W. Park, New approach to $q$-Bernoulli polynomials with weight or weak weight, Adv. Stud. Contemp. Math. (Kyungshang) 24 (2014), no. 1, 39-44. 3157407
[14] P. T. Young, A p-adic formula for the Nörlund numbers and for Bernoulli numbers of the second kind, Congr. Numer. 201 (2010), 77-87. 2598349


[^0]:    ${ }^{1}$ Corresponding author.

